1+Cos2x=2Cos²x

1-Cos2x=2sin²x
Sin2x=2·Sinx·Cosx

Cos2x=Cos²x-Sin²x

Tg2x=2Tgx/(1-tg²x)

Ctg2x=(Ctg²x-1)/2Ctgx

Sin3x=3Sinx-Sin²x·Sinx

Cos3x=4Cos²x·Cosx-3Cosx

Tg3x=(3Tgx-Tg²x·Tgx)/(1-3Tg²x)

Ctg3x=(3Ctgx-Ctg²x·Ctgx)/(1-3Ctg²x)

Sinx·Cosy=½(Sin(x+y)+Sin(x-y))

Cosx·Cosy=½(Cos(x+y)+Cos(x-y))

Sinx·Siny=½(cos(x-y)-Cos(x+y))

Sinx+Siny=2Sin½(x+y)·Cos½(x-y)

Sinx-Siny=2Cos½(x+y)·Sin½(x-y)

Cosx+Cosy=2Cos½(x+y)·Cos½(x-y)

Cosx-Cosy=-2Sin½(x+y)·Sin½(x-y) 

Sin(x+y)=Sinx·Cosy+Sinx·Cosy

Sin(x-y)=Sinx·Cosy-Sinx·Cosy

Cos(x+y)=Cosx·Cosy-Sinx·Siny

Cos(x-y)=Cosx·Cosy+Sinx·Siny

Tg(x+y)=(Tgx+Tgy)/(1-Tgx·Tgy)

Tg(x-y)=(Tgx-Tgy)/(1+Tgx·Tgy)

Ctg(x+y)=(Ctgx·Ctgy-1)/(Ctgy+Ctgx)

Ctg(x_y)=(Ctgx·Ctgy+1)/(Ctgy-Ctgx)

